
  

 

 

 
   

 

    

 

Warm application - There’s a Boy in the Girls’ Bathroom (Chapters 37&38)  

1. What are “the basics”? (1 mark)  

     __________________________________________________ 

2. Why does Bradley’s mother not attend the meeting?(1 mark)  
__________________________________________________ 

__________________________________________________ 

3. Why did the children get excited by the father’s suggestion of 
firing the counsellor?(2 marks)  

__________________________________________________ 

__________________________________________________ 

4. How does the counsellors approach differ from the parents on 
p152&3? (3 marks)  

__________________________________________________ 

__________________________________________________ 

__________________________________________________ 

__________________________________________________ 

5. Find a word on p151 which means the same as consent. (1 
mark). 

_________________________________________________ 

   

Warm application - There’s a Boy in the Girls’ Bathroom (Chapter 35&36) Answers 
1. To dribble.  
2. Fold the paper neatly, mark his place in his book, put all his pencils in the holder.  
3. Hi behaviour and attitude has improved . 
4. Collen told her she could not go anymore.  
5. She was cross and angry and felt hurt that she was not invited to the party. You might pout your hands on your hips when you feel angry and are in an argument.  
6. He couldn’t sleep 
7. He giggled as he walked into the office, he said hello before she did.  

 

5. Chapter 38. Why does Carla want Bradley to keep the book (1 
mark) 

______________________________________________________ 

_________________________________________________ 

7. Find three pieces of evidence that shows Bradley is upset.  (2 
marks)  

______________________________________________________ 

______________________________________________________ 

______________________________________________________ 

8. In your own words, explain how you think Bradley feels when 
Carla says she is leaving. Why do you think he feels that way? (3 
marks) 

______________________________________________________ 

______________________________________________________ 

_____________________________________________________ 

_____________________________________________________ 

____________________________________________________ 

____________________________________________________ 

 

 


